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oboobOooobolnoooooobooobObooobooobOo0oboobUobDoooDbOoobOoo
good

Q=4135630000
P = 510510n + 413563
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2P + 1 =2(510510n + 413563) + 1 = 1021020n + 827126 + 1 = 1021020n + 827127

0000010210200 20 2003,5,7,11,13,17000000 10000000

827127 =3 x 3 xT7Tx19x691 x1

oooo
2P + 1 = 21(48620n + 39387)
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Q=4135730000
P = 510510n + 413573

2P + 1 = 2(510510n + 413573) 4+ 1 = 10210201 + 827146 + 1 = 10210201 + 827147
0000010210200 20 2003,5,7,11,13,17000000 1000000

827147 = 827147 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 316637

gboboobooobooboboobboobboobooobooo

Q=4135790000
P = 510510n + 413579

2P + 1 = 2(510510n + 413579) 4+ 1 = 10210201 + 827158 + 1 = 10210201 + 827159
0000010210200 20 2003,5,7,11,13,17000000 1000000
827159 = 179 x 4621 x 1
0000 10210200000000000000
2P + 1 = 510510m + 316649

gbooboobooobooboboobboobboooboooboon

Q=413587 0000
P = 510510n + 413587

2P 4+ 1 =2(510510n + 413587) + 1 = 1021020n + 827174 + 1 = 1021020n + 827175

0000010210200 20 2003,5,7,11,13,17000000 10000000

827175 =3 xH x5 x41 x269 x 1
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2P + 1 = 15(68068n + 55145)
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good

Q=413591 0000
P = 510510n + 413591

2P + 1 = 2(510510n + 413591) + 1 = 1021020 + 827182 + 1 = 1021020n + 827183
0000010210200 20 2003,5,7,11,13,17000000 10000000

827183 =7 x 118169 x 1

oooo
2P + 1 = 7(145860n + 118169)

o0o0ooooOovy0O0o0o00o0o0oOOo00O00DOO0DOD00DOO00DODO0ODODOO0ODODODOOO
goo

Q=413597 0000
P = 510510n + 413597

2P + 1 = 2(510510n + 413597) + 1 = 10210201 + 827194 + 1 = 10210201 + 827195
0000010210200 20 2003,5,7,11,13,17000000 10000000

827195 =5 x 23 x 7193 x 1

oooo
2P + 1 = 5(204204n + 165439)

oboobobooosOobUobUobOOobobo0obO0obDOobOobObOobUbDobDOobObOOobOobDOobDOoo
goo

Q=4135990000
P = 5105100 + 413599

2P 4+ 1 =2(510510n + 413599) + 1 = 10210201 + 827198 + 1 = 10210201 + 827199

oo000010210200 20 2003,5,7,11,13,17000000 10000000

827199 =3 x 3 x 3 x 30637 x 1

good
2P + 1 = 3(340340n + 275733)
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Q=4136030000
P = 510510n + 413603

2P + 1 = 2(510510n + 413603) + 1 = 10210201 + 827206 + 1 = 10210201 + 827207
0000010210200 20 2003,5,7,11,13,17000000 1000000

827207 = 761 x 1087 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m 4+ 316697

gbobooobogobooboboobboobooobuoooboon

Q=4136170000
P = 5105100 + 413617

2P 4+ 1 =2(510510n + 413617) + 1 = 1021020n + 827234 + 1 = 1021020n + 827235

0000010210200 20 2003,5,7,11,13,17000000 10000000

827235 =3 x 3 x5 x31lx593x1

oooo
2P + 1 = 15(68068n + 55149)

goooooboOobhooboooooboboooooooooDoobOooDOobDOobooboOoboo
good

Q=4136290000
P = 510510n + 413629

2P + 1 =2(510510n + 413629) + 1 = 1021020n + 827258 + 1 = 10210201 + 827259

0000010210200 20 2003,5,7,11,13,17000000 10000000

827259 = 3 x 313 x 881 x 1

oooOo
2P + 1 = 3(340340n + 275753)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=4136390000
P = 510510n + 413639

2P 4+ 1 =2(510510n + 413639) + 1 = 1021020n + 827278 + 1 = 1021020n + 827279
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0000010210200 20 2003,5,7,11,13,17000000 1000000

827279 = 19 x 43541 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 316769

goboobooobooboboobboobbooboooboon

Q=4136410000
P = 510510n + 413641

2P + 1 = 2(510510n + 413641) 4+ 1 = 10210201 + 827282 + 1 = 10210201 + 827283
0000010210200 20 2003,5,7,11,13,17000000 10000000

827283 =3 x 29 x 37 x 257 x 1

oooo
2P + 1 = 3(340340n + 275761)

booboooo3oboboboooooboboooobobobDobDobooobOobOoobooo
goo

Q=4136530000
P = 5105100 + 413653

2P + 1 = 2(510510n + 413653) 4+ 1 = 10210201 4 827306 + 1 = 10210201 + 827307
0000010210200 20 2003,5,7,11,13,17000000 10000000

827307 =3 x 3 x 3 x 13 x 2357 x 1

oooo
2P + 1 = 39(26180n + 21213)

oooooooboOo3ooooooob0oboooooooooDoobDOooDOobDOobooboOooo
good

Q=4136570000
P = 510510n + 413657

2P + 1 =2(510510n + 413657) + 1 = 1021020n + 827314 + 1 = 1021020n + 827315

0000010210200 20 2003,5,7,11,13,17000000 10000000

827315 =5 x 165463 x 1

oooo
2P + 1 = 5(204204n + 165463)
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Q=4136590000
P = 510510n + 413659

2P + 1 = 2(510510n + 413659) 4 1 = 10210201 + 827318 + 1 = 10210201 + 827319
0000010210200 20 2003,5,7,11,13,17000000 10000000

827319 =3 x 275773 x 1

oooo
2P + 1 = 3(340340n + 275773)
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Q=4136630000
P = 510510n + 413663

2P 4+ 1 = 2(510510n + 413663) + 1 = 10210200 + 827326 + 1 = 10210200 + 827327
0000010210200 20 2003,5,7,11,13,17000000 1000000

827327 = 827327 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 316817

gbbooggbogoboobbugobboobbooobuoonbagn

Q=4136690000
P = 510510n + 413669

2P 4+ 1 =2(510510n + 413669) + 1 = 1021020n + 827338 + 1 = 10210201 + 827339

0000010210200 20 2003,5,7,11,13,17000000 10000000

827339 = 17 x 41 x 1187 x 1

oooo
2P + 1 = 17(60060n + 48667)

O000o0O0o0oo1Tooob0O0o0o0O00obOO0oOoO0O0o0ODOO0o0ODbDO0o0obOobDUOoOobDbOOobODbOn
good

Q=4136710000
P = 5105100 + 413671

2P 4+ 1 =2(510510n + 413671) + 1 = 1021020n + 827342 + 1 = 1021020n + 827343
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0000010210200 20 2003,5,7,11,13,17000000 10000000

827343 =3 x 3 x 11 x 61 x 137 x 1

oooo
2P + 1 = 33(30940n + 25071)
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good

Q=4136810000
P = 510510n + 413681

2P + 1 = 2(510510n + 413681) 4 1 = 10210201 + 827362 + 1 = 10210201 + 827363
0000010210200 20 2003,5,7,11,13,17000000 1000000

827363 =43 x 71 x 271 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 316853

gboboobogobooboboobboobbooobuoonooboon

Q=4136830000
P = 510510n + 413683

2P + 1 = 2(510510n + 413683) + 1 = 10210201 4 827366 + 1 = 10210201 + 827367
0000010210200 20 2003,5,7,11,13,17000000 10000000

827367 =3 x 79 x 3491 x 1

oooo
2P + 1 = 3(340340n + 275789)

oooooooo3sooooooooobooooboOobooboobDOoobboODoOobDboOoDboO
goo

Q=413687 0000
P = 510510n + 413687

2P + 1 =2(510510n + 413687) + 1 = 1021020n + 827374 + 1 = 1021020n + 827375

0000010210200 20 2003,5,7,11,13,17000000 10000000

827375 =5 x5 x5 x 6619 x 1

oooo
2P + 1 = 5(204204n + 165475)
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Q=413689 0000
P = 510510n + 413689

2P + 1 = 2(510510n + 413689) 4 1 = 10210201 + 827378 4+ 1 = 10210201 + 827379
0000010210200 20 2003,5,7,11,13,17000000 10000000

827379 =3 x 3 X 7Tx23 x571 x1

oooo
2P + 1 = 21(48620n + 39399)
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good

Q=4137010000
P = 510510n + 413701

2P 4+ 1 = 2(510510n + 413701) 4+ 1 = 10210200 + 827402 + 1 = 1021020n + 827403
0000010210200 20 2003,5,7,11,13,17000000 10000000

827403 =3 x 389 x 709 x 1

oooOo
2P + 1 = 3(340340n + 275801)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=4137110000
P =510510n + 413711

2P + 1 = 2(510510n + 413711) 4+ 1 = 10210201 + 827422 + 1 = 10210201 + 827423
0000010210200 20 2003,5,7,11,13,17000000 1000000
827423 = 827423 x 1
0000 10210200000000000000
2P + 1 = 510510m + 316913

gbooboobooobooboboobboobboooboooboon

Q=4137130000
P = 510510n + 413713

2P 4+ 1 =2(510510n + 413713) + 1 = 10210201 + 827426 + 1 = 1021020n + 827427
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0000010210200 20 2003,5,7,11,13,17000000 10000000

827427 =3 x 83 x 3323 x 1

oooo
2P + 1 = 3(340340n + 275809)

obooboobooo3oboboboooooboboooOobOobUoboDoboDobooobOobDoooo
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Q=4137170000
P = 510510n + 413717

2P + 1 = 2(510510n + 413717) 4+ 1 = 10210201 + 827434 + 1 = 10210200 + 827435
0000010210200 20 2003,5,7,11,13,17000000 10000000

827435 =5 x 7 x 47 x 503 x 1

oooo
2P + 1 = 35(29172n + 23641)

000000003 0000000000 000000DO00DO00DOO0ODODO0ODODOODODOD
good

Q=4137190000
P =510510n + 413719

2P + 1 = 2(510510n + 413719) + 1 = 1021020n + 827438 + 1 = 1021020n + 827439
0000010210200 20 2003,5,7,11,13,17000000 10000000

827439 = 3 x 275813 x 1

oooo
2P + 1 = 3(340340n + 275813)

gooooooOo3soooooooUooboUooU0boOUDbDOoUobOoUbbOUDbDOoUObDboUDboOoO
goo

Q=4137230000
P = 5105100 + 413723

2P + 1 =2(510510n + 413723) + 1 = 1021020n + 827446 + 1 = 1021020n + 827447

0000010210200 20 2003,5,7,11,13,17000000 1000000

827447 = 827447 x 1

oooo 10210200 000000000000

2P +1 =510510m + 316937
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Q=4137310000
P = 510510n + 413731

2P + 1 = 2(510510n + 413731) 4+ 1 = 10210201 + 827462 + 1 = 10210201 + 827463
0000010210200 20 2003,5,7,11,13,17000000 10000000

827463 =3 X 7T x 7x 13 x433 x 1

oooO
2P + 1 = 273(3740n + 3031)

gooooooo2r30goboooo0ooo0ooboooobooooboobbo0oooooDooDoO
good

Q=4137370000
P = 510510n + 413737

2P + 1 = 2(510510n + 413737) 4+ 1 = 10210201 + 827474 + 1 = 10210200 + 827475
0000010210200 20 2003,5,7,11,13,17000000 10000000

827475 =3 x5 x5 x11 x17x 59 x 1

oooo
2P + 1 = 2805(364n + 295)

obooboob200b0oboobooobooboobobobobooobobobooDbOoo
googo

Q=4137410000
P =510510n + 413741

2P +1 = 2(510510n + 413741) 4+ 1 = 10210200 + 827482 + 1 = 1021020n + 827483
0000010210200 20 2003,5,7,11,13,17000000 1000000
827483 = 31 x 26693 x 1
0000 10210200000000000000

2P 4+ 1 = 510510m + 316973

goooooboobooboooobooobooobobOoobboOoOoobooooDn

Q=4137470000
P = 510510n + 413747

2P + 1 =2(510510n + 413747) + 1 = 1021020n + 827494 + 1 = 1021020n + 827495
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0000010210200 20 2003,5,7,11,13,17000000 10000000

827495 =5 x 359 x 461 x 1

oooo
2P + 1 = 5(204204n + 165499)
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Q=4137530000
P = 510510n + 413753

2P + 1 = 2(510510n + 413753) 4+ 1 = 10210201 4 827506 + 1 = 10210201 + 827507
0000010210200 20 2003,5,7,11,13,17000000 1000000

827507 =19 x 97 x 449 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 316997

gboboobogobooboboobboobbooobuoonooboon

Q=4137590000
P = 5105100 + 413759

2P + 1 = 2(510510n + 413759) 4 1 = 10210201 + 827518 4+ 1 = 10210201 + 827519
0000010210200 20 2003,5,7,11,13,17000000 10000000

827519 =7 x 11 x 11 x 977 x 1

oooo
2P + 1 =T77(13260n + 10747)

ooooooogoywoobooooobobooooooooooDoboobDOobDobooboooo
good

Q=4137610000
P =510510n + 413761

2P + 1 =2(510510n + 413761) + 1 = 1021020n + 827522 + 1 = 1021020n + 827523

0000010210200 20 2003,5,7,11,13,17000000 10000000

827523 =3 x 3 x 3 x 30649 x 1

oooo
2P + 1 = 3(340340n + 275841)
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Q=4137670000
P = 510510n + 413767

2P 4+ 1 =2(510510n + 413767) + 1 = 1021020n + 827534 + 1 = 1021020n + 827535

0000010210200 20 2003,5,7,11,13,17000000 10000000

827535 =3 x H x 43 x 1283 x 1

oooo
2P + 1 = 15(68068n + 55169)
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good

Q=4137710000
P = 5105100 + 413771

2P + 1 =2(510510n + 413771) + 1 = 1021020n + 827542 + 1 = 1021020n + 827543

0000010210200 20 2003,5,7,11,13,17000000 10000000

827543 =17 x 48679 x 1

oooo
2P + 1 = 17(60060n + 48679)

goooooboOovooooOooOobOobOobOoOoOoUOoOoOoDOobDUoOoDOobDOobOooOboOooog
good

Q=4137730000
P = 510510n + 413773

2P + 1 = 2(510510n + 413773) 4+ 1 = 10210201 + 827546 + 1 = 10210200 + 827547
0000010210200 20 2003,5,7,11,13,17000000 10000000

827547 =3 x 7 x 157 x 251 x 1

oooo
2P + 1 = 21(48620n + 39407)

oboobOoobo21000b0b00ob00oob0booo0booo0b0o0oboobUobDooobOoobOoo
good

Q=4137790000
P = 510510n + 413779
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2P + 1 =2(510510n + 413779) + 1 = 1021020n + 827558 + 1 = 1021020n + 827559

0000010210200 20 2003,5,7,11,13,17000000 10000000

827559 =3 x 3 x 91951 x 1

oooo
2P + 1 = 3(340340n + 275853)
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Q=4137830000
P = 510510n + 413783

2P + 1 = 2(510510n + 413783) + 1 = 10210201 + 827566 + 1 = 10210201 + 827567
0000010210200 20 2003,5,7,11,13,17000000 10000000

827567 = 13 x 63659 x 1

oooo
2P + 1 = 13(78540n + 63659)

o00o0obO0o0ob013oooboooooooOoooobooobOOo0obooboboDoooDbOooDbOoo
good

Q=413789 0000
P = 510510n + 413789

2P + 1 = 2(510510n + 413789) 4+ 1 = 10210201 + 827578 4+ 1 = 10210201 + 827579
0000010210200 20 2003,5,7,11,13,17000000 1000000
827579 = 37 x 22367 x 1
0000 10210200000000000000
2P + 1 = 510510m + 317069
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Q=413801 0000
P =510510n + 413801

2P 4+ 1 =2(510510n + 413801) + 1 = 1021020n + 827602 + 1 = 10210201 + 827603

0000010210200 20 2003,5,7,11,13,17000000 10000000

827603 =7 x 191 x 619 x 1
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Q=4138070000
P = 510510n + 413807

2P 4+ 1 = 2(510510n + 413807) + 1 = 10210200 + 827614 + 1 = 10210201 + 827615
0000010210200 20 2003,5,7,11,13,17000000 10000000

827615 =5 x 165523 x 1

oooo
2P + 1 = 5(204204n + 165523)

oooooooobso0oooobobooooooobooooooobooOoboboooooobobOBbOoOn
ooo

Q=4138130000
P =510510n + 413813

2P + 1 = 2(510510n + 413813) + 1 = 10210201 + 827626 + 1 = 10210201 + 827627
0000010210200 20 2003,5,7,11,13,17000000 1000000
827627 = 457 x 1811 x 1
0000 10210200000000000000
2P + 1 = 510510m + 317117

gboboobogobogbooboobboobbooobuoooboon

Q=4138210000
P = 510510n + 413821

2P + 1 =2(510510n + 413821) + 1 = 1021020n + 827642 + 1 = 10210201 + 827643

0000010210200 20 2003,5,7,11,13,17000000 10000000

827643 = 3 x 275881 x 1

oooo
2P + 1 = 3(340340n + 275881)

gooooooOo3soooooooooboooooUobOoUobDooDbOoUobbOUDbDoOobboUDoO
goo
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Q=4138270000
P = 510510n + 413827

2P 4+ 1 =2(510510n + 413827) + 1 = 1021020n + 827654 + 1 = 10210201 + 827655

0000010210200 20 2003,5,7,11,13,17000000 10000000

827655 =3 x 5 x 23 x 2399 x 1

oooo
2P + 1 = 15(68068n + 55177)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
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Q=4138370000
P = 510510n + 413837

2P 4+ 1 =2(510510n + 413837) + 1 = 1021020n + 827674 + 1 = 1021020n + 827675

0000010210200 20 2003,5,7,11,13,17000000 10000000

827675 =5 x5 x 33107 x 1

oooo
2P + 1 = 5(204204n + 165535)
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Q=4138390000
P = 510510n + 413839

2P + 1 =2(510510n + 413839) + 1 = 1021020n + 827678 + 1 = 1021020n + 827679

0000010210200 20 2003,5,7,11,13,17000000 10000000

827679 = 3 x 17 x 16229 x 1

oooo
2P + 1 = 51(20020n + 16229)
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Q=4138430000
P = 510510n + 413843

2P + 1 =2(510510n + 413843) + 1 = 1021020n + 827686 + 1 = 1021020n + 827687
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827687 =7 x 317 x 373 x 1

oooo
2P 4+ 1 = 7(145860n + 118241)
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Q=4138490000
P = 5105100 + 413849

2P + 1 = 2(510510n + 413849) + 1 = 10210201 + 827698 + 1 = 10210201 + 827699
0000010210200 20 2003,5,7,11,13,17000000 1000000

827699 = 827699 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 317189

gboboobogobooboboobboobbooobuoonooboon

Q=4138510000
P = 510510n + 413851

2P + 1 = 2(510510n + 413851) 4 1 = 10210201 + 827702 4+ 1 = 10210201 + 827703
0000010210200 20 2003,5,7,11,13,17000000 10000000

827703 = 3 x 3 x 91967 x 1

oooo
2P + 1 = 3(340340n + 275901)
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Q=4138570000
P = 510510n + 413857

2P + 1 =2(510510n + 413857) + 1 = 1021020n + 827714 + 1 = 1021020n + 827715

0000010210200 20 2003,5,7,11,13,17000000 10000000

827715 =3 x5 X 7x 7883 x 1

oooo
2P + 1 = 105(9724n + 7883)
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Q=4138630000
P = 510510n + 413863

2P + 1 =2(510510n + 413863) + 1 = 1021020n + 827726 + 1 = 1021020n + 827727

0000010210200 20 2003,5,7,11,13,17000000 10000000

827727 =3 x 37 x 7457 x 1

good
2P + 1 = 3(340340n + 275909)
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Q=413870000
P = 510510n + 413867

2P 4+ 1 =2(510510n + 413867) + 1 = 1021020n + 827734 + 1 = 1021020n + 827735

0000010210200 20 2003,5,7,11,13,17000000 10000000

827735 =5x19 x 8713 x 1

oooo
2P + 1 = 5(204204n + 165547)
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